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® 3629 + 2589 + 1859 = 8077

® 3688 + 2632 - 1638 = 4682

® 7394 - 1735 + 2966 = 8625

® 8592 - 2746 - 1954 = 3892

® 2591 + 1474 - 2879 = 1186

® 2707 + 3438 - 3288 = 2857

® 7523 - 1975 + 3678 = 9226

3564 - 1878 + 5397 = 7083

https://www.11math.com/answer?pcode=BAFD9D46

® 9082 - 1726 + 1985 = 9341

9002 - 4789 - 2673 = 1540

® 2903 - 1036 + 5264 = 7131

® 5773 + 2068 + 1190 = 9031

® 5608 + 1508 - 1768 = 5348

7876 + 1465 - 2698 = 6643

® 7524 - 2727 + 1566 = 6363

1561 + 5552 - 2435 = 4678
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